il

g
=
s
i

1. ¥¥4
¥4 S0 6 FERNEIR S L ENHERE S
JBA T RSy e T IS TR IT | LIRS i e

2. EBEAR
IWEDIRA N HEAT & SE PR

1) FEF4
2) BT 122 HH H 4&f1 64 TA31H
= S 6FE11H29H

3) wHwyI
AL, WD BINTI0 5, DB DA MO R R O

DFRFIHEETIEBE TH D,

4) EBNE
RSB R R D L B Y

E+sZi@E SN



i
I
St
%%%
I

EHL | D6 FEHVEIR S LNE NSRS ER i W=
H H HEHI&
THH - T - R B fif iy & KA MR N R
HiF & EY 1 537, 002
FiLH £ 2y 1 537, 002
L £ 2y 1 537,002 | BibHlE: (YEZEETHE)
1 kW
B b
(0.005)1 (km2) 2K
Jits A & 2y 1 819, 600
BRI = 1 311, 200
AR = 1 311,200 | VE3EHmE
1 kW
B Ay
0.1 km
BRI Sl =y
0.1 km
FHERITI 2
0.1 km
TR &
0.1 km
T EEERHER = 1 508, 400
W EEERHER = 1 508,400 | HIEZEEHER
1 =
BiStii} = 1 91, 500
e = 1 91, 500
FIee% = 1 91,500 | 1&6¢
1 =

-1- E+sZi@E SN



iy
%lljll
I

¥4 | D6 EEERRES NENRIERE GRS ¥
H H
THH - T - fER] B fr BN R
ERERE = 61, 601
[ERES S 2y 61,601
i Gk 2y 7,601 | ikt (REtE - EAE)
1 X
Ty 2 54,000 | ETRAAIERE
1 X
EHER =X ,509, 703
Eite3bresy = , 220, 297
SR X , 220, 297
T ESEG Mk = , 730, 000
)| RS ERR G = , 895, 838
e W , 280, 438
RERERENIR R 2 , 280,438 | REFEREANRRG!
(100 )1 (m) =
Sl
R EERHER = , 615, 400
SRRk = , 615,400 | FREFEEEMER
1 =
B2 33 = 608, 150
Hom GREHER) = 608, 150
e = 422,500 | ¥T&H
-2 - E A28 SUNHT R



ull
P

==
=]

¥4 | D6 EEERRES NENRIERE GRS E BOES
H H L3l
THH - T - fER] B fr % & KA OB ORR
1 =
DA = 58,450 | MAEHAMTE I X DWiE
1 [A]
M RTF = v 7 — D OVERR
1 THE
INBH AR S ERK =X 127,200 | ZABEIR%SR S VER
1 E30
[R5 S =4 2y 291, 916
[ERES S 2y 291, 916
b= By = 21,916 | kg (FEE - BmAE)
1 A
%%Eﬁ%ﬁlﬁzﬁk% ﬂ 270, 000 %%Eﬁ%&ﬁzﬁk%
1 A
B (Z Ot mER <) = 3, 795, 904
Z DA = 1, 873, 379
— I A = 3, 050, 717
EHATRE = 8,720, 000
EHRE = 11, 450, 000
-3 - E A28 SUNHT R



